JS≣

**CURRENCY DERIVATIVES** 

**CURRENCY FUTURES AND OPTIONS MATCHED TRADES** 

REPORT FOR 22/06/2016

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:48:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.8280		7,414,000.00 Client	Buy
8:48:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.8280		(7,414,000.00) Member	Sell
8:48:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	15.0505		(75,252,500.00) Member	Sell
9:01:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9895		(74,947.50) Member	Sell
9:01:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9895		74,947.50 Client	Buy
9:03:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9760		(7,488,000.00) Client	Sell
9:03:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9760		7,488,000.00 Member	Buy
9:05:08	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	43	43,000	14.9710		643,753.00 Client	Buy
9:05:08	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	43	43,000	14.9710		(643,753.00) Member	Sell
9:05:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9726		1,497,260.00 Client	Buy
9:05:24	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9726		(1,497,260.00) Member	Sell
9:10:37	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	14.9672		(14,967,200.00) Client	Sell
9:10:37	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	14.9672		14,967,200.00 Member	Buy
9:10:37	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	14.9543		(448,629.00) Member	Sell
9:10:37	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	30	30,000	14.9543		448,629.00 Client	Buy
9:11:51	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	60	60,000	14.9500		897,000.00 Member	Buy
9:12:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9475		298,950.00 Client	Buy
9:15:23	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	15.2250		(1,522,500.00) Client	Sell

Page 1 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:15:23	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	15.2250		1,522,500.00 Member	Buy
9:15:24	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.70	1	1,000	1,200	1,200,000	538.3400		646,008,000.00 Member	Buy
9:15:24	\$ / R 19/12/2016	Foreign Exchange Future	Р	13.70	1	1,000	1,200	1,200,000	216.2600		(259,512,000.00) Member	Sell
9:15:24	\$ / R 19/09/2016	Foreign Exchange Future	Р	13.70	1	1,000	840	840,000	113.1200		(95,020,800.00) Member	Sell
9:15:24	\$ / R 19/09/2016	Foreign Exchange Future	Р	14.70	1	1,000	840	840,000	404.6300		339,889,200.00 Member	Buy
9:18:05	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9734		(299,468.00) Member	Sell
9:18:05	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9734		299,468.00 Client	Buy
9:18:14	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	15.2350		3,047,000.00 Member	Buy
9:18:14	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	15.2350		(3,047,000.00) Client	Sell
9:18:19	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.9727		(374,317.50) Member	Sell
9:19:21	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9696		299,392.00 Client	Buy
9:19:21	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9696		(299,392.00) Member	Sell
9:22:57	\$ / R 19/09/2016	Foreign Exchange Future	Р	13.70	1	1,000	840	840,000	123.1200		(103,420,800.00) Member	Sell
9:23:18	\$ / R 19/09/2016	Foreign Exchange Future	Р	14.70	1	1,000	840	840,000	394.6300		331,489,200.00 Member	Buy
9:26:01	\$ / R 19/12/2016	Foreign Exchange Future	Р	13.70	1	1,000	1,200	1,200,000	226.2600		(271,512,000.00) Member	Sell
9:26:01	\$ / R 19/12/2016	Foreign Exchange Future	Р	13.70	1	1,000	1,200	1,200,000	226.2600		271,512,000.00 Client	Buy
9:33:55	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	14.9599		74,799,500.00 Member	Buy
9:36:45	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9774		(1,497,740.00) Member	Sell
9:36:45	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9774		1,497,740.00 Member	Buy
9:37:41	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9785		1,497,850.00 Client	Buy
9:37:41	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9785		(1,497,850.00) Member	Sell
9:37:41	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	8,000	8,000,000	15.2607		(122,085,600.00) Member	Sell
9:44:39	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	15.0099		(7,504,950.00) Member	Sell
9:51:05	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	15.0100		(225,150.00) Client	Sell
9:51:05	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	15.0100		225,150.00 Member	Buy
9:55:36	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	15.0302		(45,090.60) Member	Sell
9:55:36	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3	3,000	15.0302		45,090.60 Client	Buy
10:04:27	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	8,000	8,000,000	15.2607		122,085,600.00 Member	Buy
10:04:27	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	22,600	22,600,000	317.8700		(7,183,862,000.00) Member	Sell
10:04:27	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	22,600	22,600,000	1,270.4700		28,712,622,000.00 Member	Buy
10:04:57	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	8,000	8,000,000	15.2607		(122,085,600.00) Member	Sell
10:05:12	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	63	63,000	15.0019		945,119.70 Member	Buy
10:05:49	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	600	600,000	15.0260		9,015,600.00 Member	Buy
10:05:49	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	600	600,000	15.0260		(9,015,600.00) Client	Sell
10:05:49	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	600	600,000	15.0260		(9,015,600.00) Client	Sell
10:05:49	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	600	600,000	15.0260		9,015,600.00 Member	Buy
10:06:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	63	63,000	14.9919		944,489.70 Member	Buy
10:06:43	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	63	63,000	14.9919		(944,489.70) Client	Sell
10:07:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	14.9986		44,995,800.00 Member	Buy
10:11:34	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	15.1005		(7,550,250.00) Member	Sell
10:11:34	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	15.0555		75,277,500.00 Client	Buy
10:12:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	15.0000		(150,000.00) Client	Sell
10:12:24	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	15.0000		150,000.00 Member	Buy

Page 2 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:16:48	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	14.9900		119,920.00 Client	Buy
10:16:48	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	8	8,000	14.9900		(119,920.00) Member	Sell
10:16:59	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	15.2600		763,000.00 Member	Buy
10:16:59	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	15.2600		(763,000.00) Member	Sell
10:21:06	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9210		(298,420.00) Member	Sell
10:21:06	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9210		298,420.00 Client	Buy
10:21:06	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9210		(298,420.00) Member	Sell
10:21:06	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	14.9210		298,420.00 Client	Buy
10:31:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	412	412,000	14.9742		6,169,370.40 Member	Buy
10:34:39	\$ / R 27/06/2016	Any day expiry	Р	14.62	1	1,000	500	500,000	164.0100		(82,005,000.00) Member	Sell
10:42:48	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	22,600	22,600,000	1,233.4700		27,876,422,000.00 Member	Buy
10:47:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.9777		149,777.00 Client	Buy
10:52:07	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9864		(14,986.40) Member	Sell
10:52:07	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9864		14,986.40 Client	Buy
10:54:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.9900		7,495,000.00 Member	Buy
11:08:36	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	14.9789		(2,995,780.00) Member	Sell
11:08:36	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	14.9789		2,995,780.00 Client	Buy
11:08:59	\$ / R 27/06/2016	Any day expiry	Р	14.62	1	1,000	500	500,000	169.0100		84,505,000.00 Client	Buy
11:08:59	\$ / R 27/06/2016	Any day expiry	Р	14.62	1	1,000	500	500,000	169.0100		(84,505,000.00) Member	Sell
11:51:40	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.9675		374,187.50 Client	Buy
11:51:40	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.9675		(374,187.50) Member	Sell
12:01:22	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.70	1	1,000	1,200	1,200,000	528.3400		634,008,000.00 Member	Buy
12:04:01	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.70	1	1,000	1,200	1,200,000	528.3400		(634,008,000.00) Client	Sell
12:04:21	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	15.2506		(3,050,120.00) Member	Sell
12:04:21	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	15.2506		3,050,120.00 Member	Buy
12:04:22	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.9770		(7,488,500.00) Member	Sell
12:04:22	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.9770		7,488,500.00 Member	Buy
12:04:22	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	475	475,000	14.9770		(7,114,075.00) Member	Sell
12:04:22	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	475	475,000	14.9770		7,114,075.00 Member	Buy
12:05:34	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9916		(1,499,160.00) Client	Sell
12:05:34	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9916		1,499,160.00 Member	Buy
12:06:04	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9935		1,499,350.00 Client	Buy
12:06:04	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	14.9935		(1,499,350.00) Member	Sell
12:22:37	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	14.9650		4,489,500.00 Member	Buy
12:22:37	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	300	300,000	14.9650		(4,489,500.00) Member	Sell
12:25:14	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	3,300	3,300,000	1,233.4700		(4,070,451,000.00) Client	Sell
12:25:14	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	3,118	3,118,000	1,233.4700		(3,845,959,460.00) Client	Sell
12:25:14	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	694	694,000	1,233.4700		(856,028,180.00) Client	Sell
12:25:14	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	2,143	2,143,000	1,233.4700		(2,643,326,210.00) Client	Sell
12:25:15	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	5,668	5,668,000	1,233.4700		(6,991,307,960.00) Client	Sell
12:25:15	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	4,440	4,440,000	1,233.4700		(5,476,606,800.00) Client	Sell
12:25:15	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	400	400,000	1,233.4700		(493,388,000.00) Client	Sell
12:25:15	\$ / R 19/12/2016	Foreign Exchange Future	Р	15.86	1	1,000	2,837	2,837,000	1,233.4700		(3,499,354,390.00) Client	Sell

Page 3 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
					Huucs	Value		Nomman	11100	rate	.,,,,,	
12:26:32	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	14.9500		74,750.00 Client	Buy
12:26:32	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	14.9500		(74,750.00) Member	Sell
12:28:20	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.9549		(59,819.60) Member	Sell
12:28:20	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.9549		59,819.60 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	3,300	3,300,000	322.8700		1,065,471,000.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	2,837	2,837,000	322.8700		915,982,190.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	3,118	3,118,000	322.8700		1,006,708,660.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	400	400,000	322.8700		129,148,000.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	2,143	2,143,000	322.8700		691,910,410.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	694	694,000	322.8700		224,071,780.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	4,440	4,440,000	322.8700		1,433,542,800.00 Client	Buy
12:31:42	\$ / R 19/12/2016	Foreign Exchange Future	Р	14.00	1	1,000	5,668	5,668,000	322.8700		1,830,027,160.00 Client	Buy
12:34:16	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	14.9430		(5,977,200.00) Member	Sell
12:34:16	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	400	400,000	14.9430		5,977,200.00 Client	Buy
12:35:10	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9500		(14,950.00) Member	Sell
12:35:10	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9500		14,950.00 Client	Buy
12:36:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.9445		(59,778.00) Member	Sell
12:36:42	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.9445		59,778.00 Client	Buy
12:36:44	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.9400		149,400.00 Client	Buy
12:36:44	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.9400		(149,400.00) Member	Sell
12:38:33	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	15.4685		(154,685.00) Member	Sell
12:38:33	\$ / R 13/03/2017	Foreign Exchange Future		0.00	1	1,000	10	10,000	15.4685		154,685.00 Client	Buy
12:42:15	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	14.9400		(224,100.00) Client	Sell
12:42:15	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	14.9400		224,100.00 Member	Buy
13:01:55	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.9545		59,818.00 Client	Buy
13:01:55	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9550		(14,955.00) Client	Sell
13:03:20	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.9527		(373,817.50) Member	Sell
13:03:20	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	25	25,000	14.9527		373,817.50 Member	Buy
13:03:20	\$ / R 19/12/2016			0.00	1	1,000	500	500,000	15.2255		7,612,750.00 Member	
13:03:20	\$ / R 19/12/2016 \$ / R 19/12/2016	Foreign Exchange Future			1	1,000	500	500,000	15.2255			Buy
13:06:25		Foreign Exchange Future		0.00	1		10				(7,612,750.00) Member	Sell
	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000		10,000	14.9400		149,400.00 Client	Buy
13:06:25	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.9400		(149,400.00) Client	Sell
13:06:25	\$ / R 19/09/2016	Foreign Exchange Future		0.00	•	1,000	500	500,000	14.9400		7,470,000.00 Member	Buy
13:06:25	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.9400		(7,470,000.00) Client	Sell
13:06:25	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	447	447,000	14.9379		6,677,241.30 Member	Buy
13:06:25	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	447	447,000	14.9379		(6,677,241.30) Client	Sell
13:25:26	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9585		14,958.50 Member	Buy
13:25:26	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	14.9585		(14,958.50) Client	Sell
13:34:36	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	15.2331		15,233.10 Client	Buy
13:34:36	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	15.2331		(15,233.10) Member	Sell
13:40:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	14.9655		(2,993,100.00) Member	Sell
13:40:59	\$ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	200	200,000	14.9655		2,993,100.00 Client	Buy
13:47:38	\$ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	2	2,000	15.2369		30,473.80 Client	Buy

Page 4 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:47:38	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	15.2369		(30,473.80) Member	Sell
13:48:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9650		(149,650.00) Member	Sell
13:48:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9650		149,650.00 Client	Buy
13:52:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.9600		(29,920.00) Member	Sell
14:18:27	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9630		(149,630.00) Member	Sell
14:18:27	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9630		149,630.00 Client	Buy
14:19:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9534		7,476,700.00 Member	Buy
14:21:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9485		7,474,250.00 Member	Buy
14:21:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9485		(7,474,250.00) Client	Sell
14:43:15	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9752		(748,760.00) Member	Sell
14:43:15	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9752		748,760.00 Client	Buy
14:48:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	14.9444		(2,988,880.00) Member	Sell
14:49:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9300		746,500.00 Member	Buy
14:49:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9300		(746,500.00) Member	Sell
14:49:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9300		149,300.00 Client	Buy
14:49:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9300		(149,300.00) Member	Sell
14:54:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9318		(746,590.00) Client	Sell
14:54:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9318		746,590.00 Member	Buy
14:56:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	175	175,000	14.9294		(2,612,645.00) Client	Sell
14:56:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	175	175,000	14.9294		2,612,645.00 Member	Buy
15:03:20	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2109		(76,054.50) Member	Sell
15:03:20	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	15.2109		76,054.50 Client	Buy
15:11:35	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.9482		(14,948.20) Member	Sell
15:11:35	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.9482		14,948.20 Client	Buy
15:22:06	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.9727		374,317.50 Client	Buy
15:24:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	56	56,000	14.9400		836,640.00 Client	Buy
15:24:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	56	56,000	14.9400		(836,640.00) Member	Sell
15:30:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9410		(149,410.00) Member	Sell
15:30:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9410		149,410.00 Client	Buy
15:30:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	243	243,000	14.9400		(3,630,420.00) Member	Sell
15:30:17	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	243	243,000	14.9400		3,630,420.00 Client	Buy
15:30:48	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9350		298,700.00 Client	Buy
15:30:48	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9350		(298,700.00) Member	Sell
15:32:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9376		(746,880.00) Member	Sell
15:32:29	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9376		746,880.00 Member	Buy
15:43:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9275		298,550.00 Client	Buy
15:43:46	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9250		298,500.00 Client	Buy
15:45:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	260	260,000	14.9300		3,881,800.00 Member	Buy
15:50:34	\$ / R 22/06/2016	Any day expiry	0.00	1	1,000	339	339,000	14.6700		4,973,130.00 Member	Buy
15:50:34	\$ / R 22/06/2016	Any day expiry	0.00	1	1,000	339	339,000	14.6700		(4,973,130.00) Client	Sell
15:51:46	\$ / R 29/06/2016	Any day expiry	0.00	1	1,000	339	339,000	14.6915		(4,980,418.50) Member	Sell
15:51:46	\$ / R 29/06/2016	Any day expiry	0.00	1	1,000	339	339,000	14.6915		4,980,418.50 Client	Buy
15:52:56	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	61	61,000	15.2070		927,627.00 Client	Buy

Page 5 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:52:56	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	61	61,000	15.2070		(927,627.00) Member	Sell
15:52:56	\$ / R 22/06/2016	Any day expiry	0.00	1	1,000	61	61,000	14.6700		894,870.00 Member	Buy
15:52:56	\$ / R 22/06/2016	Any day expiry	0.00	1	1,000	61	61,000	14.6700		(894,870.00) Client	Sell
15:54:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	53	53,000	14.9220		790,866.00 Member	Buy
15:54:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	147	147,000	14.9220		2,193,534.00 Member	Buy
15:54:02	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9264		(7,463,200.00) Member	Sell
15:57:45	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9320		(1,493,200.00) Member	Sell
15:57:45	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9320		1,493,200.00 Member	Buy
15:57:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9207		(1,492,070.00) Member	Sell
15:57:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9207		1,492,070.00 Member	Buy
15:58:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9204		1,492,040.00 Member	Buy
15:58:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9204		(1,492,040.00) Member	Sell
15:59:03	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9161		(1,491,610.00) Member	Sell
15:59:03	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9161		1,491,610.00 Member	Buy
16:01:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9214		746,070.00 Member	Buy
16:01:52	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9214		(746,070.00) Client	Sell
16:04:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	450	450,000	14.9075		6,708,375.00 Member	Buy
16:04:23	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	450	450,000	14.9075		(6,708,375.00) Member	Sell
16:04:24	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.1764		7,588,200.00 Member	Buy
16:04:24	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.1764		(7,588,200.00) Member	Sell
16:04:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.9084		3,727,100.00 Member	Buy
16:04:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	14.9084		(3,727,100.00) Member	Sell
16:04:27	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.4278		7,713,900.00 Member	Buy
16:04:27	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.4278		(7,713,900.00) Member	Sell
16:04:29	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1769		3,794,225.00 Member	Buy
16:04:29	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.1769		(3,794,225.00) Member	Sell
16:04:29	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.4273		3,856,825.00 Member	Buy
16:04:29	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.4273		(3,856,825.00) Member	Sell
16:04:33	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.1733		7,586,650.00 Member	Buy
16:04:33	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.1733		(7,586,650.00) Member	Sell
16:04:33	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9009		7,450,450.00 Member	Buy
16:04:33	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.9009		(7,450,450.00) Member	Sell
16:05:40	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9023		1,490,230.00 Member	Buy
16:06:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	120	120,000	14.9020		(1,788,240.00) Client	Sell
16:06:05	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9005		298,010.00 Member	Buy
16:06:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	14.9210		(596,840.00) Member	Sell
16:06:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	40	40,000	14.9210		596,840.00 Client	Buy
16:07:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9000		74,500.00 Client	Buy
16:07:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9000		(74,500.00) Member	Sell
16:07:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9000		(74,500.00) Member	Sell
16:07:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9000		74,500.00 Client	Buy
16:07:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9000		74,500.00 Client	Buy
16:07:56	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.9000		(74,500.00) Member	Sell

Page 6 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:09:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	14.9069		(59,627.60) Member	Sell
16:09:26	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	4	4,000	14.9069		59,627.60 Client	Buy
16:10:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.8900		(1,489,000.00) Member	Sell
16:10:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.8900		1,489,000.00 Client	Buy
16:11:58	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,742	1,742,000	14.9902		(26,112,928.40) Client	Sell
16:13:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5,080	5,080,000	14.9597		(75,995,276.00) Client	Sell
16:14:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	13	13,000	14.9000		(193,700.00) Client	Sell
16:14:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	9	9,000	14.9000		(134,100.00) Client	Sell
16:15:31	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	3	3,000	14.9047		(44,714.10) Member	Sell
16:15:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.9006		372,515.00 Client	Buy
16:23:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.8758		(74,379.00) Client	Sell
16:23:13	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.8758		74,379.00 Member	Buy
16:24:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	550	550,000	14.9100		(8,200,500.00) Member	Sell
16:24:16	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	550	550,000	14.9100		8,200,500.00 Member	Buy
16:27:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,120	1,120,000	14.9031		16,691,472.00 Client	Buy
16:27:07	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,120	1,120,000	14.9031		(16,691,472.00) Member	Sell
16:28:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,900	1,900,000	14.9031		(28,315,890.00) Member	Sell
16:28:01	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1,900	1,900,000	14.9031		28,315,890.00 Client	Buy
16:29:20	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9138		(745,690.00) Member	Sell
16:30:12	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.1800		(7,590,000.00) Member	Sell
16:30:12	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.1800		7,590,000.00 Member	Buy
16:30:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.4300		(7,715,000.00) Member	Sell
16:30:13	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	500	500,000	15.4300		7,715,000.00 Member	Buy
16:31:11	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.4300		(771,500.00) Member	Sell
16:31:11	\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.4300		771,500.00 Member	Buy
16:31:11	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.1800		(759,000.00) Member	Sell
16:31:11	\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	15.1800		759,000.00 Member	Buy
16:32:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	14.9144		4,474,320.00 Client	Buy
16:32:38	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	300	300,000	14.9144		(4,474,320.00) Member	Sell
16:43:50	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	7	7,000	14.9100		(104,370.00) Member	Sell
16:43:50	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	7	7,000	14.9100		104,370.00 Client	Buy
16:49:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9063		(745,315.00) Client	Sell
16:49:19	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9063		745,315.00 Member	Buy
16:53:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.9136		29,827.20 Member	Buy
16:53:09	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.9136		(29,827.20) Client	Sell
16:53:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9284		(298,568.00) Member	Sell
16:53:25	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	14.9284		298,568.00 Client	Buy
16:54:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	400	400,000	14.9314		(5,972,560.00) Member	Sell
16:54:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	400	400,000	14.9314		5,972,560.00 Client	Buy
16:56:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9229		(1,492,290.00) Member	Sell
16:56:10	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.9229		1,492,290.00 Client	Buy
16:56:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9140		(149,140.00) Client	Sell
16:56:12	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	14.9140		149,140.00 Client	Buy

Page 7 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:58:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.9249		29,849.80 Member	Buy
16:58:00	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.9249		(29,849.80) Client	Sell
16:59:21	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.9432		(14,943.20) Member	Sell
17:18:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.9138		745,690.00 Client	Buy
18:01:46	\$ / R 22/06/2016	Any day expiry	0.00	1	1,000	400	400,000	14.6557		(5,862,280.00) Member	Sell
18:01:46	\$ / R 22/06/2016	Any day expiry	0.00	1	1,000	400	400,000	14.6557		5,862,280.00 Member	Buy
Total Futu	ıres			125		46,476	46,475,500			700,130,068.20	
Total Opti	ions			16		62,530	62,530,000			0.00	
Total for \$	/ R Any day expiry			141		109,006	109,005,500			52,091,922,568.20	
12:04:21	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9781		7,489,050.00 Member	Buy
12:04:21	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9781		(7,489,050.00) Member	Sell
12:04:21	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9792		(7,489,600.00) Member	Sell
12:04:21	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9792		7,489,600.00 Member	Buy
12:04:22	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	15.2484		7,624,200.00 Member	Buy
12:04:22	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	15.2484		(7,624,200.00) Member	Sell
12:04:22	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9770		7,488,500.00 Member	Buy
12:04:22	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9770		(7,488,500.00) Member	Sell
12:59:08	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	10	1,000,000	14.9450		14,945,000.00 Client	Buy
12:59:08	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9450		(7,472,500.00) Member	Sell
12:59:08	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	10	1,000,000	14.9450		(14,945,000.00) Member	Sell
12:59:08	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9450		7,472,500.00 Client	Buy
13:03:20	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9525		7,476,250.00 Member	Buy
13:03:20	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9525		(7,476,250.00) Member	Sell
13:03:20	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	15.2250		7,612,500.00 Member	Buy
13:03:20	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	15.2250		(7,612,500.00) Member	Sell
13:03:20	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9530		7,476,500.00 Member	Buy
13:03:20	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9530		(7,476,500.00) Member	Sell
16:04:26	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	14.9084		4,472,520.00 Member	Buy
16:04:26	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	14.9084		(4,472,520.00) Member	Sell
16:04:26	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	2	200,000	14.9075		2,981,500.00 Member	Buy
16:04:26	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	2	200,000	14.9075		(2,981,500.00) Member	Sell
16:04:29	\$ / R MAXI 13/03/2017	Foreign Exchange Future	0.00	1	100,000	3	300,000	15.4273		4,628,190.00 Member	Buy
16:04:29	\$ / R MAXI 13/03/2017	Foreign Exchange Future	0.00	1	100,000	3	300,000	15.4273		(4,628,190.00) Member	Sell
16:04:29	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	15.1769		4,553,070.00 Member	Buy
16:04:29	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	15.1769		(4,553,070.00) Member	Sell
16:04:29	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	2	200,000	15.1764		3,035,280.00 Member	Buy
16:04:29	\$ / R MAXI 19/12/2016	Foreign Exchange Future	0.00	1	100,000	2	200,000	15.1764		(3,035,280.00) Member	Sell
16:04:33	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9075		7,453,750.00 Member	Buy
16:04:33	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.9075		(7,453,750.00) Member	Sell
16:04:35	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	14.9075		4,472,250.00 Member	Buy
16:04:35	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	3	300,000	14.9075		(4,472,250.00) Member	Sell

Page 8 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:04:49	\$ / R MAXI 19/09/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	14.9049		7,452,450.00 Member	Buy
16:04:49	\$ / R MAXI 19/09/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	14.9049		(7,452,450.00) Member	Sell
16:04:49	\$ / R MAXI 19/09/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	14.9049		7,452,450.00 Member	Buy
16:04:49	\$ / R MAXI 19/09/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	14.9049		(7,452,450.00) Member	Sell
16:04:49	\$ / R MAXI 19/12/2016	Foreign Exchange Future		0.00	1	100,000	3	300,000	15.1764		4,552,920.00 Member	Buy
16:04:49	\$ / R MAXI 19/12/2016	Foreign Exchange Future		0.00	1	100,000	3	300,000	15.1764		(4,552,920.00) Member	Sell
Total Futu	res				19		84	8,400,000			126,128,480.00	
Total Option	ons											
Total for \$	/ R MAXI Foreign Excl	nange Future			19		84	8,400,000			126,128,480.00	
9:18:31	£/R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	21.9890		(87,956.00) Client	Sell
9:42:11	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	21	21,000	22.0494		(463,037.40) Member	Sell
11:12:12	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	21.9723		(439,446.00) Member	Sell
11:14:24	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	21.9823		439,646.00 Client	Buy
11:14:24	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	21.9823		(439,646.00) Member	Sell
11:29:11	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	10,000	10,000,000	334.8000		3,348,000,000.00 Member	Buy
11:29:11	£ / R 19/09/2016	Foreign Exchange Future	С	21.90	1	1,000	5,000	5,000,000	911.1300		(4,555,650,000.00) Member	Sell
11:29:11	£ / R 19/09/2016	Foreign Exchange Future	Р	19.83	1	1,000	7,500	7,500,000	160.6500		1,204,875,000.00 Member	Buy
11:33:06	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	22.0120		(2,201,200.00) Member	Sell
12:36:24	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	22.0220		2,202,200.00 Client	Buy
12:36:24	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	22.0220		(2,202,200.00) Member	Sell
13:03:21	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	21.9580		(7,685,300.00) Member	Sell
13:03:21	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	21.9580		7,685,300.00 Member	Buy
15:22:14	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	21.9890		87,956.00 Client	Buy
15:22:22	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	21	21,000	22.0494		463,037.40 Client	Buy
16:04:33	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	22.0305		2,203,050.00 Member	Buy
16:04:33	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	100	100,000	22.0305		(2,203,050.00) Member	Sell
16:04:43	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	150	150,000	22.0254		3,303,810.00 Member	Buy
16:04:43	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	150	150,000	22.0254		(3,303,810.00) Member	Sell
16:47:13	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	10	10,000	21.9397		(219,397.00) Member	Sell
16:47:38	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	21.9312		(109,656.00) Member	Sell
16:47:38	£ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	21.9369		329,053.50 Client	Buy
17:04:52	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	3,000	3,000,000	330.3000		990,900,000.00 Member	Buy
17:04:52	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	3,000	3,000,000	330.3000		(990,900,000.00) Client	Sell
17:05:21	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	2,700	2,700,000	330.3000		(891,810,000.00) Client	Sell
17:05:21	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	2,700	2,700,000	330.3000		891,810,000.00 Member	Buy
17:06:11	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	1,800	1,800,000	330.3000		(594,540,000.00) Client	Sell
17:06:35	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	1,800	1,800,000	330.3000		(594,540,000.00) Client	Sell
17:07:08	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	500	500,000	330.3000		(165,150,000.00) Client	Sell
17:07:28	£ / R 19/09/2016	Foreign Exchange Future	С	23.60	1	1,000	200	200,000	330.3000		(66,060,000.00) Client	Sell
17:09:31	£ / R 19/09/2016	Foreign Exchange Future	С	21.90	1	1,000	1,500	1,500,000	911.1300		1,366,695,000.00 Client	Buy
17:09:52	£ / R 19/09/2016	Foreign Exchange Future	С	21.90	1	1,000	1,350	1,350,000	911.1300		1,230,025,500.00 Client	Buy
17.00.02	271010/00/2010	. Groigh Exchange i utule	J	21.00	'	1,000	1,000	1,000,000	511.1500		1,200,020,000.00 Oliciti	Day

Page 9 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
17:10:59	£ / R 19/09/2016	Foreign Exchange Future	С	21.90	1	1,000	900	900,000	911.1300	820,017,000.00 Client	Buy
17:11:14	£ / R 19/09/2016	Foreign Exchange Future	С	21.90	1	1,000	250	250,000	911.1300	227,782,500.00 Client	Buy
17:11:28	£/R19/09/2016	Foreign Exchange Future	С	21.90	1	1,000	100	100,000	911.1300	91,113,000.00 Client	Buy
17:13:32	£ / R 19/09/2016	Foreign Exchange Future	Р	19.83	1	1,000	1,350	1,350,000	160.6500	(216,877,500.00) Client	Sell
17:13:32	£ / R 19/09/2016	Foreign Exchange Future	Р	19.83	1	1,000	150	150,000	160.6500	(24,097,500.00) Client	Sell
17:13:32	£ / R 19/09/2016	Foreign Exchange Future	Р	19.83	1	1,000	2,250	2,250,000	160.6500	(361,462,500.00) Client	Sell
17:13:32	£ / R 19/09/2016	Foreign Exchange Future	Р	19.83	1	1,000	2,025	2,025,000	160.6500	(325,316,250.00) Client	Sell
17:13:32	£ / R 19/09/2016	Foreign Exchange Future	Р	19.83	1	1,000	375	375,000	160.6500	(60,243,750.00) Client	Sell
Total Futu	ires				10		820	820,000		18,034,375.65	
Total Opti	ons				11		24,225	24,225,000		0.00	
Total for £	/ R Foreign Exchang	ge Future			20		25,045	25,045,000		9,526,967,125.65	
16:43:40	¥ / R 19/09/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	0.1429	71,450.00 Client	Buy
16:43:40	¥ / R 19/09/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	0.1429	(71,450.00) Member	Sell
Total Futu	ires				1		5	500,000		71,450.00	
Total Opti	ons										
Total for ¥	al for ¥ / R Foreign Exchange Future				1		5	500,000		71,450.00	
9:03:35	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.9334	(338,668.00) Member	Sell
9:03:35	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.9334	338,668.00 Client	Buy
9:11:55	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	16.9203	(253,804.50) Member	Sell
9:11:55	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	15	15,000	16.9203	253,804.50 Client	Buy
9:41:33	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	16.6300	49,890,000.00 Member	Buy
9:41:33	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	16.9334	(50,800,200.00) Member	Sell
9:42:54	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	16.6300	(49,890,000.00) Member	Sell
9:43:09	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	16.9334	50,800,200.00 Member	Buy
10:05:07	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.9846	339,692.00 Client	Buy
10:05:07	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	20	20,000	16.9846	(339,692.00) Member	Sell
10:32:00	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	17.3180	(69,272.00) Member	Sell
10:32:00	€ / R 19/12/2016	Foreign Exchange Future		0.00	1	1,000	4	4,000	17.3180	69,272.00 Client	Buy
11:12:03	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	53	53,000	16.9499	(898,344.70) Member	Sell
11:12:23	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	16.9452	(16,945.20) Member	Sell
11:12:23	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	1	1,000	16.9452	16,945.20 Client	Buy
11:14:48	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	53	53,000	16.9599	898,874.70 Client	Buy
11:14:48	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	53	53,000	16.9599	(898,874.70) Member	Sell
12:04:51	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	350 350	350,000	16.9763	5,941,705.00 Member	Buy
12:04:51	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	350	350,000	16.9763	(5,941,705.00) Member	Sell
12:49:29	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	28	28,000	16.9279	(473,981.20) Member	Sell
12:49:29	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	28	28,000	16.9279	473,981.20 Client	Buy
13:03:21	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	150	150,000	16.9473	(2,542,095.00) Member	Sell
13:03:21	€ / R 19/09/2016	Foreign Exchange Future		0.00	1	1,000	150	150,000	16.9473	2,542,095.00 Member	Buy

Page 10 of 12 2016/06/22, 06:12:39PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:04:29	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	16.9492		2,118,650.00 Member	Buy
16:04:29	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	16.9492		(2,118,650.00) Member	Sell
16:04:29	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	225	225,000	16.9462		3,812,895.00 Member	Buy
16:04:29	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	225	225,000	16.9462		(3,812,895.00) Member	Sell
16:04:30	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	17.3143		2,164,287.50 Member	Buy
16:04:30	€ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	17.3143		(2,164,287.50) Member	Sell
16:05:06	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	16.9515		2,542,725.00 Member	Buy
16:05:06	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	150	150,000	16.9515		(2,542,725.00) Member	Sell
16:58:43	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	117	117,000	16.8981		1,977,077.70 Member	Buy
16:58:43	€ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	117	117,000	16.8981		(1,977,077.70) Client	Sell
Total Futu	ires			17		7,410	7,409,500			124,630,045.15	
Total Opti	ons										
Total for €	/ R Foreign Exchang	e Future		17		7,410	7,409,500			124,630,045.15	
13:03:20	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.1741		2,793,525.00 Member	Buy
13:03:20	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.1741		(2,793,525.00) Member	Sell
15:18:06	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.3518		2,270,360.00 Member	Buy
15:18:06	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.3518		(2,270,360.00) Member	Sell
15:18:06	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	11.3674		(1,420,925.00) Member	Sell
15:18:06	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	11.3674		1,420,925.00 Member	Buy
15:18:10	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.1827		2,795,675.00 Member	Buy
15:18:10	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.1827		(2,795,675.00) Member	Sell
15:31:26	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	11.3486		(1,418,575.00) Member	Sell
15:31:26	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	125	125,000	11.3486		1,418,575.00 Member	Buy
16:04:30	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.1777		2,794,425.00 Member	Buy
16:04:30	AU\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	250	250,000	11.1777		(2,794,425.00) Member	Sell
16:04:43	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.3459		2,269,180.00 Member	Buy
16:04:43	AU\$ / R 19/12/2016	Foreign Exchange Future	0.00	1	1,000	200	200,000	11.3459		(2,269,180.00) Member	Sell
16:10:41	AU\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.4910		(114,910.00) Member	Sell
16:10:41	AU\$ / R 13/03/2017	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.4910		114,910.00 Client	Buy
Total Futu	ires			8		1,410	1,410,000			15,877,575.00	
Total Opti	ons										
Total for A	AU\$ / R Foreign Excha	inge Future		8		1,410	1,410,000			15,877,575.00	
11:12:23	CHF / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	9	9,000	15.7003		(141,302.70) Member	Sell
11:14:08	CHF / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	9	9,000	15.7103		(141,392.70) Member	Sell
11:14:08	CHF / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	9	9,000	15.7103		141,392.70 Client	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot I Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	res			2		14	13,500			212,044.05	
Total Option	ons										
Total for C	HF / R Foreign Excha	nge Future		2		14	13,500			212,044.05	
15:24:44	DKK / R 19/09/2016	Foreign Exchange Future	0.00	) 1	10,000	22	220,000	2.2730		500,060.00 Member	Buy
15:33:14	DKK / R 19/09/2016	Foreign Exchange Future	0.00	) 1	10,000	22	220,000	2.2730		(500,060.00) Client	Sell
Total Futu	res			1		22	220,000			500,060.00	
Total Option	ons										
Total for D	KK / R Foreign Excha	nge Future		1		22	220,000			500,060.00	
Total Futu	res			182		56,240	65,248,500		98	35,584,098.05	
Total Option	ons			27		86,755	86,755,000			0.00	
Grand Total for all Instruments			208		142,995	152,003,500		61 8	36,309,348.05		